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p=Tmm=nd/z
/=d/m=mnd/ p
m=g / n=d/z=da/(z+2)

d=mz=da—-2m

h=2. 25m

ha=m=p / 7

hf = 1. 25m



p=nm=nd/z

m=p /™ =d/z=da/ (z+2)

d=mz=da-2m
da=m(z+2)=d+2m=p (z+2)/ =

de=d-2. bm=m(z-2. 5) =da-2h=da-4. bm
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cos =zm./d ; tan =®d/p,
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fo=p, / % =mr cos B =§—,cas B

me=d/z=w,/cos B

Z :l:l_a"mt =TT d_ﬂ'rpr:dﬂﬂs ﬁ f;m-l!
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a=(z;+z23)mx/2c08 B
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7=d/m=md/ p
m=p / n=d/z=da/ (z+2)

d=mz=da—2m

h=2. 25m
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ha=m=p /T

he=1. 25




/.o oot

P=n/p=2/d=(z+2) /da
p=x/p=7nd/z
z=dP=daP-2=1 p
d=da-2ha=z/p=zda/z+2

da=(z+2) /P=(z+2) h

deda—Etha—E4.314fp]

h=2. 157/P=0. 6866 p
ha=1/P=0. 3183 p
he=1. 157/P=0. 3683 p
S=1. 5708/P=p /2

a=(z,+z,) /2P




=P:/cos B=x /,=z/dcod B
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8 B=z/P,d
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